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Regarding 3D printing technology, which of the following statements is incorrect?

(A) Fused deposition modeling uses heated materials that soften and then stack layer by
layer to form a shape.

(B) Stereolithography uses photosensitive resin and light exposure to solidify materials
into a shape.

(C) Laser powder sintering technology generates a large amount of waste during the
manufacturing process.

(D) 3D printing can be used for manufacturing industrial parts and medical models.

Regarding the use of sandpaper, which of the following statements is correct?

(A) The smaller the grit number of the sandpaper, the rougher the surface.

(B) The larger the grit number of the sandpaper, the rougher the sanding effect.

(C) The grit number of the sandpaper is unrelated to the roughness.

(D) The smaller the grit number of the sandpaper, the more suitable it is for the final

polishing step.
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Which substance in electronic waste produces dioxin?
(A) Lead (B) Cadmium
(C) Polyvinyl chloride (D) Copper

Regarding the operating principle of a DC generator, which of the following statements
is incorrect?

(A) A DC generator converts kinetic energy into electrical energy.

(B) DC motors and DC generators can be used interchangeably.

(C) A DC generator requires an external power source to operate.

(D) The rotation of the motor's rotor generates current.

In the process of making LED lights, which measure is necessary to prevent LED lights
from burning out?

(A) Connecting a suitable resistor in series.

(B) Connecting a suitable capacitor in series.

(C) Connecting a suitable inductor in parallel.

(D) Connecting a suitable transformer in parallel.

Which of the following descriptions about isometric drawings is correct?
(A) Isometric drawings cannot simultaneously show three faces.

(B) Circles in isometric drawings are drawn as ellipses.

(C) Isometric drawings can only be hand-drawn.

(D) Isometric drawings cannot display the actual dimensions of an object.

Circuit breaker is designed to protect the current overload of a circuit, and it is in the
with the circuit elements it wants to protect.
(A) parallel connection (B) series connection

(C) intelligent connection (D) wireless connection

Regarding the history of lock development, which of the following statements is

incorrect?

(A) Wooden locks were the earliest locks, primarily using wooden pins and bamboo
sticks to open doors.

(B) Metal locks first appeared in the Bronze Age, using plate springs to unlock.

(C) Tumbler locks are opened by turning the lock cylinder with a key.

(D) Electronic locks primarily use mechanical structures to unlock.





